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1 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz % — — — —|3m%&iBR D - ~ — — —
ZFhLs 1.00 | 0.00 ~ 360 4547 | FnLs oo ~ 360|218 11.66 Zh s 1.00 | 5.00 5.00 45.47 | #hst | 5.00 ~ 500|218 11.66
2 100kN/ Mm% 23 — - ~ — —|3mZEBZB| 000 ~ 047] 3.68 19.72 | 100kN/m%#BZ% — — — —|3m%EBZB| 1000 ~ 1268 3.68 19.72
ZFhLs 1.00| 000 ~ 248 32.85 | #nst | 047 ~ 248 3.00 16.05 ZThsh 1.00 | 6.00 12.68 32.85 | ThS | 6,00 ~ 10.00] 3.00 16.05
3 100kN/ Mm% 23 — - ~ — —|3mZEBZB| 000 ~ 041|366 19.02 | 100kN/m%#BZ % — — — —|3m%EBZB| 1000 ~ 1412| 3.66 19.02
ZFhLs 1.00| 000 ~ 320 40.84 | #hst | 041 ~ 320|300 16.05 ZThsh 1.00 | 6.00 14.12 40.84 | Th5 | 5.00 ~ 1000 3.00 16.05
4 100kN/ Mm% 23 — - ~ — —|3mZEBZB| 000 ~ 006|307 16.42 | 100kN/mM%#BZ % — — — —|3m%E#BZB| 1000 ~ 12.12| 3.07 16.42
ZFhLs 1.00|0.00 ~ 5.00 62.35 | #FnLst | 0.06 ~ 5.00| 3.00 16.05 Zhsh 1.00 | 6.00 12.12 62.35 | ThUS | 5.00 ~ 10.00]| 3.00 16.05
5 100kN/m#%#8Z%| 1.00| 000 ~ 0.02 100.28 |3m&E#BZBH| — ~ — — — | 100kN/mi%#8Z % | 1.00 | 15.50 1558 | 100.28 |3m%E#Z 5 - ~ — — —
ZFhLs 100002 ~ 780 100.00 | #Fhst | 000 ~ 780|294 156.75 Thst 1.00 | 6.00 15.50 100.00 | =nst | 5,00 ~ 1558| 2.94 15.75
6 100kN/ Mm% 23 — - ~ — —|3mZEBZB| 000 ~ 002|302 16.15 | 100kN/m%#BZ% — — — —|3m%EBZB| 1000 ~ 1458 3.02 16.15
ZFhLs 1.00| 000 ~ 589 73.75 | FnLs | 0.02 ~ 589 3.00 16.05 ZThsh 1.00 | 6.00 14.58 73.75 | =R | 5,00 ~ 1000 3.00 16.05
p 100kN/m#%#8Z%| 1.00|0.00 ~ 0.50 107.40 |3m&E#EZBH| — ~ — — — | 100kN/m%#8% % | 1.00 | 11.02 12.43 107.40 |3m%#BZ 5% - ~ — — —
ZFhLs 1.00) 050 ~ 828 100.00 | #hust | 000 ~ 828) 235 12.59 Zh s 1.00 | 6.00 11.02| 100.00 | FhS | 6,00 ~ 1243|235 12.59
3 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz % — — — —|3m%iBER D - ~ — — —
ZFhLs 1.00) 000 ~ 724 92.12 | #hst 000 ~ 724|175 9.38 Zhsh 1.00 | 5.00 9.22 9212 | #hS | 5.00 ~ 922|175 9.38
9 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — — — —|3m%iBER D - ~ — — —
ZFhLs 1.00| 000 ~ 673 85.09 | #hist 000 ~ 675|262 14.02 Thsh 1.00 | 6.00 10.68 85.09 | Thds | 6,00 ~ 1068 2.62 14.02
10 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — — — —|3m%&iBR D - ~ — — —
ZFhLs 1.00| 000 ~ 7.70 9881 | #hist 000 ~ 770219 11.69 Zh st 1.00 | 6.00 10.82 9881 | Thds | 6,00 ~ 1032]2.19 11.69
11 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — — — —|3m%iBER D - ~ — — —
ZFhLs 1.00|0.00 ~ 701 8892 | #hist | 000 ~ 701|248 13.27 ZThsh 1.00 | 6.00 10.01 8892 | Thds | 6,00 ~ 1001|248 13.27
12 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — — — —|3m%&iBER D - ~ — — —
ZFhLs 1.00 000 ~ 478 59.51 | #nust 000 ~ 000|172 9.21 Zh s 1.00 | 5.00 5.00 59.51 | #hst | 5.00 ~ 500 1.72 9.21
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ImEHEZD ~
Zh s ~ Zhs ~ Zh st zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ImEEZD ~
Zh s ~ Zhst ~ ZThsh zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ImEEZD ~
Zh s ~ Zh s ~ Zh s Zh st ~
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